PIENRE

P =
QE&
whlds

(FAFBRFEHME )

== iEs 10)
I 1 . ]I[l/ﬁ /}EE
EMABMHICA XU E U TIgZHHnEaRMIg S Lic & & (0~309 F TlE 1BR312300mL.

30~ 1200 F TIKX 1HREIC100MLORSEE) . MHFETAR (30~1209) ORSIEHEE
(Cmax) (£0.139+0.017mg/mL T O, HERFEH (1,,2) [£1.571£0. 7468 Th ol

0.20

0.15

0.10

0.05

miEs1 XY RE (mg/mL)

0.00 T T T T

B (hr)

[EYERE/ (S A —F]

N I

Cmax t1/2 AUCo-w MRT CLtot

Bk (mg/mL) (hr) (mg +hr/mL) (hr) (L/hr)

5

1X1)>ELT3e 0.139£0.017| 1.57*0.74 | 0.419£0.089| 2.53+0.63 7.40%1.41

MR 2REKABMEES F3fE£SD
HiE A X > & LT3 e HERaFRNIES

(AFBRFEHME )

| 2 gt 10

EERMASBMICA XU & UTIgZRHRARIIR S Uic £ &, 5 TH 1 0BEE TICRFICEE
100%HFt SNz,

[(FEYERE/ (S A—F]

weg AR HEMR (RS EI1C3T5%)
0-2B%FS 0-4R%FS 0-8R%M 0-12B%FS 0-24B%F8
1XeLT3e 73.614.1 101.7+3.6 115.1+4.0 118.2+4.3 119.414.1
SR - EERABIE6H FH#ELSD

HiE A X2 & LT3t RS

.



S
.IDJlleEkll)lnwaum

(AFBRFRHEE )

| 3 e=pgpE®

ML OEYEEAERIBIT O (CIHBE (S, #ERASMICA XU Y &L TogHifiaaik
ANig5 Ufc (0~3072F CTlE 185 (C300mL. 30~24073F CTld 165E(C100mLOKRSEE)
BROMRE IR (30~240%) DIIEFREEL O(CIRSHE TROBKRIEELIL. SEAERIERN
([CRDFEFIFEAERD SNIED DTS,

0.20
=COm ERERIEEIE
=Om SYMEAEREINE
3 =Om fEYMERE BEIE
£ 0.15 -
W
E
i
K _
NI
o
X
V
H
HT  0.05
=
0.00 T T T T T T
0 2 4 6 8 10 12
B [ (hr)
e
[EENE) (S X — 5] 0
g
Cmax ti/2 AUCo-w MRT ClLtot e
(mg/mL) (hr) (mg * hr/mL) (hr) (L/hr)
EQERIEENE |0.150£0.010 | 3.47+1.27 [0.960£0.155 5.31+£1.23 5.34+0.98
EEELERERNE |0.148+0.009 | 3.82+1.49 [0.942+0.170 | 5.56+1.49 5.47+1.11
fEMMEEREEEBIE: | 0.146+0.009| 3.58+2.09 |0.897+0.218 5.40*+2.05 5.87+1.45

WER : ZERRABMER F13fE+SD
HiE A X > &L Thg iRkt S

(6. BiENUHAE]

AF 1 NA 7L ENEBREE, BREERIER360MLICERL. AETIRET 3D, 18RUTICHEWVWTIE, BF
DIREE, A8 EEE L. BEEHWSZEHTE S,

A% #EIR & LT, 150mL % 15T IC300mLOERE T30/, SRV THEFE & L T150mL % 18R (2100mLoD
RE TN AEERET %,

Bif : fIEE & LT, 183REICAE1kgd /=¥ 8mL (RA1EERIC300mL) DEE T304, KW THIZFE L L T,
1BEBICUTOHERXRZHVWTEE L -B5E (RA1ERBIC100mL) ORE T1202BEAFEFET 5, hH. 120
DEIDHFERSHICHRIBOShE L - 5EE. MEBEEDOKRSIEB 215028 £ TERTE %,

HIEE (mL) =0.7 X HEEARBKESBE (ML/min/1.73m?) X ARERE (m?)

.




